Raijasthan Institute of Engineering & Technolo aipur.

| Mid Term examination

Session: 2017-18 Set-A
IV Semester
Branci=LCC
Subject with code-Advanced Engg. Mathematics-Il
Timer Thr, M.M.:20
Instruction for students: No provision for supplementary answer book.
Q.1 The ordinates of a normal curve are giving by the following table:
X 0 0.2 0.4 0.6 0.8
y 0.3989 0.391 0.3683 0.3332 0.2897
Evaluate (1) y(0.25) (1) y(0.62)(1)
OR
Q.1 Given that;
X 107 20° 30° 40° 50° 60° 70° 80°
y 0.9848 0.9397 0.8660 0.7660 0.6428 0.5 0.3420 0.1737

Calculate y (25°), and y (73°) by using appropriate interpolation formula.
Q.2 Use Lagrange’s interpolation formula to find y when x=2, given that
X 0 1 3 4

y 5 6 50 105

OR
Q.2 Define the operators and prove that relation between these operator.

Q.3 Use Picard method to solve ~ given that y (0) - 0, cumpute up to fourth approximation.
OR

Q.3 Evaluate by Simpson's 1/3 rule. Afler finding the true value of integral ,then compnie the

error
Q.4 What is relation between shift operator and inverse shift operators also prove them.!

OR

Q.4 Use Milne’s method to obtain the solution of the equation dy/dx =x-y* atx=0.8 given that
y(0)=0

Y(0.2)=.02, y(0.4)=.0795 y(0.6)= 0.1762,
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Session: 2017-18 Set-B
IV Semester
Branch — ECE
Subject with code-Advanced Engg. Mathematics-ll
Time: 2hrs. M.M.:20

Instruction for students: No provision for supplementary answer book.
Q.1 Given that:

H 0 §° 10° 152 20° 25% 30°
tanf 0 0.0875 0.1763 0.2679 0.3640 0.4663 0.5774
Calculate tan 3%, lun 167, hy nsing, appropiiate interpolation formula.

OR

Q.1 A rod is rotating in a plane. The following gives the angle (in radians) through which the
rod has turned for various values of time t(sec.)
T 0 0.2 0.4 0.6 0.8 1 1.2
0 0 0.12 0.49 1.12 2.02 3.2 4.67
Calculate the angular velocity and acceleration of the rod whent=10.2.

Q.2 Flﬂ f(5) from the following table by using [agrange’s interpolation formula
X 1 2 3 4 7

| fx) 2 4 8 16 128
OR
Q.2 Use Milne’s P-C method to solve the equation at x = 0.8
X 0 0.2 0.4 0.6
y(x) 0 0.02 0.0795 0.1762

Q.3 Use Runge-Kutta fourth order method to solve 1o obtain y (0.2) given that
y{0)=1 withh=0.1.
OR
Q.3 Evaluate using (i) Trapezoidal rule(ii) Simpson’s 1/3 Rule (iii) Simpson’s 3/8 Rule
Q4 Use Euler's method find the value of y at x -0.2 from the initial value problem dy/dx= 1-x+4y,
y(0)=1 taking h=0.1

OR ~—

¢
Q.4 Write down the stirling formula, simpson integration formulae, and runge kutta fourth order

fourmala.
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Rajasthan Institute of Engineering & Technology.Jaipur.

| Mid Term examination

Session: 2017-18 Set-B
IV Semester
Branch ~Common for EE/EEE
Subjact with code-Advanred Frgg, Mathematics-1l
Time: Zhra. ILM..20

Instruction for students: No provision for supplementary answer book.

Q.1 Given that;

0 0° 5° 10° 15° 20° 257 30°

tan@ 0 0.0875 0.1763 0.2679 0.3640 0.4663 0.5774

Calculate tan 3°, tan 16°, by using appropriate interpolation formula.
OR

Q.1 A rod is rotating in a plane, The following gives the angle (in radians) through which the
rod has turned for various values of time t(sec.)

i 0 0.2 0.4 0.6 0.8 1 1.2

0 0 0.12 0.49 1.12 2.02 32 4.67

Calculate the angular velocity and acceleration of the rod when t = 0.2.

Q.2 Find f(5) from the following table by using Lagrange’s interpolation formula

X 1 2 3 4 7
f(x) 2 4 8 16 128
OR
Q.2 Find the real root of the equation by Newton-Raphson Method, correct up to four place of

decimal.
Q.3 Usce Runge-Kutta fourth order method to solve  to obtain y (0.2) given that %5 = "0
y (0) =1 with h=0.1. o ’

OR

Q.3 Evaluate using (i) Trapezoidal rule(ii) Simpson’s 1/3 Rule (iii) Simpson’s 3/8 Rule

Q.4 Solve the system by Gauss seidal mrthod.

. 27x+6y-z=85 6x+15y-2z=72 . xty-54z=110

OR
Q.4 Solve the system by Gauss elimination method.

. 2xHdy+z=3 Ix+2y-2z=-2 , X-ytz=6
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Rajasthan Institute of Engineering & Technology. Jaipur.

| Mid Term examination

Session: 2017-18 Set-A
1V Semester
Branch —Common for tE/EEE
Subject with code-Advanced Engg. Mathematics-Il

Time: 2hrs. M.M.:20
Iustruction for students: No provision for supplementary answer book.

Q.1 The ordinates of a normal curve are giving by the following table:

X 0 0.2 0.4 0.6 0.8

y 0.3989 0.391 0.3683 0.3332 0.2897

Evaluate (i) y(0.25) (i) ¥(0.62)

OR

Q.1 Given that;

X 10° 20° 30° : 40° 50° 60° 70° 30°

y 0.9848 0.9397 0.8660 0.7660 0.6428 0.5 0.3420 0.1737

Calculate y (23°), y (32°), by using appropriate interpolation formula.
Q.2 Use Lagrange’s interpolation formula to find v when x=2, given that
X 0 1 3 e

y ) 6 50 105

OR
0.2 Use Regula-falsi method to solve, correct up to fourth place of decimal.
Q.3 Solve by the Modified Euler’s method to solve determine y for
x= 1.1, to 1.4 by taking h=0.1.
OR
Q.3 Evaluate using (i) Trapezoidal rule(ii) Simpson’s 13 Rule (iii) Simpson’s 3/8 Rule
Hence obtain the approximate value of 7t in each case.
Q.4 Fit the second degree parabola to the following data,.

X 0 | 2 3 4
y 1 1.8 13 25 6.3
OR
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